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�- ���Ë��¶°���{�Ã|��Ã{Y{�½Z�¿���¬»Ä]��Â]�»�Ä¯�����Á{��Ìe�®Ë'��Y{�Ì³�µÂ��Ä]�� ��f»�Ã{Y{�½Z�¿�É�Y~³�Z]�Z]
��Ë��¶°���{�Ã|�Ê»�Ä»Z¿�¾ÌËM�Á{��Å��Z�Y��]�Y��|�Z]ACI�Z]M�Á Ê����{ÓÂ§�Ä] �|ÌÀ¯�t¸�». �Z]�Ã|¿���¯�¼f»��Z]
�dË�¯�»��Y�kÁ�y������f»�Ê¸Ì»d�Y�Ã|��µZ¼�Y���¬»���]��¯�»�Ä]�d^�¿ .  

௖݂ = ,ܽܲܯ�35 ௬݂௩ =  ܽܲܯ�300

  
  
  
  
  
  
  
 
 
 

        
  
  
  
  
  
 
 
 
 

஽ݍ = 20�kN/m 
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୐ܲ = 300�kN 3�m 
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�-  �Á���¬»�Ä]�ÄmÂe�Z]¶°���{�Ã|��Ã{Y{�½Z�¿��Ìe��Ë�:  

¦·Y (�c|��Ä]��Y|^Ë���Ã{�f�³��Z]�Ä°ÀËY���§� Z]ݍ௨ = 150݇ܰ/݉ Ê»�µZ¼�Y��Ìe�Ä]{Â���´À·��j¯Y|u��Ê�rÌa
Ê»�Ä¯�Ã{�f�³|ÌÀ¯�Ä^�Zv»�Y��{�¯�µZ¼�Y��Ìe�Ä]�½YÂe.  

[ (]|ÌÀ¯�t¸�»�Ê�rÌa�Ê·Â��{ÓÂ§�Ä]�Y����¬»�¦·Y�d¼�«��{�Ã|��Ä^�Zv»��rÌa�Ä]�ÄmÂe�Z .  

   �� ௖݂ = ,ܽܲܯ�21 ௬݂ = �����,ܽܲܯ�420 ௬݂௩ =  ܽܲܯ�300
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12@100 mm



  

  

�- ����¬»�d�Y�É�Y{�Ì³����Á{��Ìe�®Ë�Ä]��Â]�»��Ë�dË�¯�»��Y�kÁ�y�Z]�É�¯�¼f»��Z]�Ä¯�����½M�Ä]��f»�Ê¸Ì»
Ê»�µZ¼�Y{Â�.��¶°���{�Ã|��Ã{Y{�½Z�¿�Ê����ÉZÅ�ÂeZ»�M�Ä]�ÄmÂe�Z]��j¯Y|u��Y|¬»��Z]|ÌÀ¯�[Z�u�Y� .  

௖݂ = ,ܽܲܯ�25 ௬݂௩ =  ܽܲܯ�300
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